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Logical Reasoning Questions for CLAT Exam. 

CLAT Reasoning Quiz 39 
 
Directions: Read the questions carefully and choose the right answer. 
 

1.  Find the odd one amongst the choices. 

A. Eagle   B. Ostrich   C. Sparrow  D. Pigeon 
 

2.  Find the missing term in each of the following series. 
ATL, BUM, CVN, DWO, ? 

A. EXQ    B. FQP    C. EXP   D. FXQ 
 

3.  In the following question select the related letter from the given alternatives. 

EGIK : FILO :: FHJL : ? 

A. JGMP   B. JGPM   C. GJPM  D. GJMP 
 

4.  If in a certain code SOCIAL is written as TQFMFR, then DIMPLE would be coded as 

A. EKPTQK   B. EKPQPJ   C. EKPSPJ  D. EKPSOH 
 

5. If 'pen' is called 'pencil', 'pencil' is called 'scale', 'scale' is called 'bag' and 
'bag' is called 'book', which is used to carry the books? 

A. Scale   B. Pen    C. Book  D. Bag 
 

6.  If Teena's mother was Uday's mother's only daughter, then how was Uday related to 
Teena? 

A. Maternal grand father B. Maternal Uncle  C. Cousin  D. Son 
 

7.  After his office in the afternoon a man goes facing the sun. Then he turns to his right, 
then he turns to his left and then turns to his left and then to his right. In which 
direction is he moving? 

A. North - west  B. North - East   C. South - East  D. South – West 
 

8.  The minute - hand of an in - accurate clock overtakes the hour - hand in every 65 
minutes interval. How much in a day does the clock gain or lose? 

A. 10 
  

   
 min.  B. 10 

  

   
 min.   C. 15 

  

   
 min.  D. 25 

  

   
 min. 



 

 

9.  The year next to 1987 having the same calendar as that of 1987 is : 

A. 1994   B. 1996   C. 1998  D. 1992 

 

10. If you are thirteenth in a queue starting either end, how many persons are there in the 
queue? 

A. 20    B. 22    C. 23   D. 25 

 
Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

B C D A C B A B C D 

 
 
Explanations : 

 

1. Ostrich is a flightless bird, whereas the other three can fly. 
  

Hence, option B is correct. 
 
 

2. Pattern of the given series. 
 

 
 
Hence, option C is correct. 

 
 

3.   

 
 

Similarly 
 

 
 
Hence, option D is correct. 



 

 

4.   First letter is coded as next letter. 
  

Second letter is coded as second next letter. 
  

Third letter is coded as third next letter and so on. 
  

So, 
 

 
 
Hence, option A is correct. 

 
 

5.  Books are carried in a bag and 'bag' is called 'book'. 
 
Hence, option C is correct. 

 
 
6. From the given information, we get 

 
If Teena's mother was Uday's mother's only daughter, 
 
Uday's mother's only daughter means Uday has only one sister who is Teena's mother. So, Uday is 
maternal-uncle of Teena. 
 
Hence, option B is correct. 

 
 

7. The movement is like 
 

 
  

  
We have to assume that the backdoor faces the west. 

  
Hence, option A is correct. 



 

 

8. In an accurate clock, the hands of a clock coincide every 65 (5/11) minutes. But in this case, they are 
together again after 65 minutes, hence the clock gains time. 

  

Gain in 65 minutes =  ( 65  
5 

 – 65 )  =  
5 

 minutes. 
11 11 

 
∴ Gain in one day (24 × 60 min. 
 

=  
5 

 ×  
60 

 × 24 =  
5 × 288 

 min. = 10  
10 

 min. 
11 65 143 143 

 
Hence, option B is correct.. 

 
 

9. Starting with 1987, we go on counting the number odd days till the sum is divisible by 7. 
  

Number of odd days = 1 (1987) + 2 (1988) + 1 (1989) + 1 (1990) + 1 (1991) + 2 (1992) + 1 (1993) + 1 
(1994) + 1 (1995) + 2  (1996) + 1 (1997) = 14/7 = 0 odd days. 
  
So, the year next to 1987 having the same calendar as that of 1987 is 1998. 
Hence, option C is correct. 

 
 
10.  

 
 
Number of people in the queue = 2 × 13 – 1 = 25. 
  
Hence, option D is correct 
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